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5.116 Water flows by gravity from one lake to another as 3 /
sketched in Fig. PS.116 at the steady rate of 80 gpm. What i /
the loss in available energy associated with this flow? If this |
same amount of loss is associated with pumping the fluid from ,‘ ,
the lower lake to the higher one at the same flowrate, estimate 4 / section(b!
the amount of pumping power required.
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5.1177 A $-hp motor is required by an air ven-
tilating fan to produce a 24-in.-diameter stream
of air having a uniform speed of 40 ft/s. Deter-
mine the aerodynamic efficiency of the fan.

The aemdynam/c ef)fc,mcy of the ﬁm 7,
v = /deal power rvéguivred
actuad powev reg urred .
The  actual shatt power ’egam:d’ A AT is 0.75 hp .

The ideal shatt- power reguived ) ""Ga:e, J) 15 obtained from 53;.5‘.22 Hov Flow
W/limu.f (osS across the fan. Thus
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Then 5 tug. ,q)’;;o £+ b
y = o.%’:l»,,_ 0.5 . hp.
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